( SITETSTeR T9reaT quraT SHTor a5 9reT 2025 )
o9 —amrier s DHeT—8
1. fIvges] & MR W e 4R
. | SIfENTH &7/ PIeet /&Il b AR | Il b UPR JT
qg. | Sffaeryg | oy | fFE | U
1 SfAENI(EAR 37ia) 20 2 1 2 1 6
2 AT fdwr— e 20 2 1 4 - 7
3 RIGINCACINNRIRCANICE) 20 2 1 2 1 6
4 TARRIORTT 20 2 1 2 1 6
T 80 8 4 10 3 25
2. Il B AR b AR
. | ST I DI R 3P MR gforerd ((TPHR)
1 STHBRT /RO 6 8 10.00
2 NLE 6 22 27.50
3 STTURINT 5 13 16.25
4 fargeryoT 5 25 31.25
5 ESRIEE! 2 8 10.00
6 o/ Prerd 1 4 5.00
T 25 80 100
3. Ul & YBRAR 3P IR
[T EE] Ty
=)
1 TS 8 1 8 10 10
2 ST TTERTHS 4 2 8 10 25
3 TERTHD 10 4 40 50 60
4 IRECIRICY 3 8 24 30 45
5 T & T B — — — - 10
JIT 25 - 80 100 150




RS Rier goiar gHeT o= 90Em 2025

ELEMENTARY EDUCATION COMPLETION CERTIFICATE EXAM 2025
Dl — 8
CLASS - 8
fava — wmifoe fagm
Subject - Social Science

T 9 T

Sample Question Paper
Jafy —  2:30 g9 Torid — 80
Duration 2:30 hours Max.Marks — 80

JEIfIS U (1-8)

Objective Type Question (1-8)

I oy W el § ¥ 9281 Adeu g
Choose the correct option from the given option

31 AR / amel MR A |91 7 ad dl— (1)

(a1) 1942 (@) 1946
(d) 1947 # (]) 1948 #

Colonial/royal Indian navy did mutiny in-

(a) 1942 (b) 1946
(c) 1947 (d) 1948
[
g3 2 "ORAT" OeR | dedd - (1)
@) a¥ H T IR Wil HAT @) a4 § TH IR Tl HRAT

() S B B FFI & oy ETell Bl (]) 3799 | By ol [
The word "fallow" means-
(a) Cultivation twice a year (b) Cultivation once a year

(c) Leaving the field uncultivated for sometime (d) None of the above [

ye: 3 FaT AT BT HRE B (1)
(87) Stq Taef (d) 7T BT T
(@) Sterary (%) ST T [



The factor that causes soil formation -
(a)Organic matter (b) Composition of soil
(c)Climate (d) All the above

U9: 4 U QI BT TG URIAS R UR el & wifdh—

(e1) 91 9 Hg & IMI SATET © @) 9T R ET PG R PH ©
() 1 &R HH 9 g X W&l © (8) 1 @ 997 X IHI 8 PH &

The population pyramid of a country is broad at its base because -

(a) Both Birth and death rate are high  (b) Birth rate is high, death rate is low
(c) Birth rate is low, death rate is high  (d) Both Birth and death rate are low

ge: 5 JfMfeardl T Sfeilfddl & foy R o

(1) ST W @) RreR 1R

@) ‘°r 3R ‘9 T W (3) SWYad H | By ol
Tribal community were dependent for livelihood on-

(a)Forest (b)Hunting

(c)Both ‘@’ & ‘b’ (d)None of the above

Uee: 6 9T fffa uiiRd fam Tar—
(31) 1925 (@) 1950
(|) 1986 (%) 2001

The child labour act was passed in-
(a)1925 (b) 1950
(c)1986 (d) 2001

;7 HRTST fdd Bl Hifed fhar—

(31) Rrarsit = (@) 9roiRTg F
SIEICENEES (&) AT BeUENT A
The maratha power was organised by?
(a)Shivaji (b) Bajirao
(c) Madhavrao (d) Nana Fadnavis

3 8 YUTR I I g fvar & Reg g 2

(31) SR (@) SEgR

(#) warg AR () SR
Where is the Ranthambore national park situated?
(a)Jaipur (b) Jodhpur
(c) Sawai Madhopur (d) Udaipur

[
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Very Short Answer type Question

ge: 9 BIed H U T wekl § ¥ IR e &7 79 R Rad wmE @ gfd @i —

( STET yRed, e, sgwe 17, SHax ) 4x%=2
(31) gl & U8 WR MR BN & MMART BT TACH TR PHEAR B |
(@) uf 1000 fFaal TR SAfAT ST @V G FHEARH T |
() FAEIT D oo & ITIAR BIEd &I S AT T bl & |
(@) MR afdr § ST 7 3T TEATT Do FEd ol

Fill in the blank by choosing correct words from the given bracket-
[ Population change, soil, article 17, birth rate ]
1- The thin layer of grany substance covering the surface of the earth is

(o1 ] [=Ye P .
2- The number of live births per 1000 thousand persons is called..........ccccvveveeriieiiiniiiiiinnnns .
3- According to article ......ccccoevvvenrrnnvnreeneennnnn. Untouchability has been abolished.

4- The change in population over a specific period of time is called .........cccvveveveeeeeennnn. .

WZ1OW'H'WW'§'®WH§EQ— 4X§=2
RSvRa i ESSE I
(1) T & I dS AR (A) STet
(2) @ 3B R AT (B) Hrg HHTEA [l
(3) WE@yrl FAdiemxvia T (C) 2006
(4) ST (D)wret
Match Column ‘A’ with Column ‘B’
Column ‘A’ Column ‘B’
(1)The greatest resources of nation (A) Water
(2)Recognition of forest rights (B) Human Resources [people]
(3)Major renewable resources (C) 2006
(4)Tribe (D) Bhil



ue: 11 FrforRad werdl o1 Siaey ¥ /3 # ¥ SWed W (V) 4x35=2

a7 forge siferd BT

(1) wRAR AU @& e 21 & ATAR UMl & AMBR Bl Silad & FEBR BT
T 9 1 T B [T/ 3T

(2) YIS I SMER ATSTAT 2017 H URT B TS | [ / 3T

(3) <t gEmRl I YRl ATl & IGeI dId fJarg &I JAHT @ [ / 31|

(4) IR WY 6—14 a9 PI Y & FII g=al DI RMeT & ARHR P TR<! <l
2l [H /399

Check the following statements and tick (V) against True/False: —
1. According to article 21 of Indian constitution the right to water is considered to be a

part of right to life. [True/False]
2. Rajasthan Jan adhaar scheme was started in 2017. [True/False]

The aim of Beti bachao-beti padhao scheme was to stop child marriage. [True/False]
4. The Indian constitution gurantees the Right to Education for all children between the

age of 6-14 years [True/False]

o: 12 BT 9 UAT ATHE de™ P fol¢ T S fby ? 2

What did the company do to increase its revenue?
3IN / Ans

ST RIHAD U

Short Answer type Question

U 13 W & gg UR fewofl forRay— 4
Write a short note on the battle of Plassey.
3N/ Ans




U 14 () TIHeR Weq Pl gRAMT BT | 2+2=4
Define the term 'Vernacular'
3N/ Ans

(@) Rd & URE TR TS GURS! & 9 faRay e aftemst & Rafa § gur
& yaN -
Name the famous social reformers of India who tried to improve the
condition of women. (any four)
3N/ Ans

U 15 HaT FIAROT A 39 T AHeId 8° HaT GReV & oIy 39 T SUR HA? (4)
What do you understand by soil degradation? What measures will you take for soil
conservation?

3N/ Ans




U9 16 TADHRONT AR I MY R FHASKT 22 ISTeR0T Afed FHSSY | (4)

What do you understand by renewable resources? Explain with examples.
3N/ Ans

U3 17 ORI & AFRE § 74 # 9 B3 IR M1 ®I gAg0—
(S1PTR, STHCTHR, BIcl, IIFATST, TIATIIG) 4x1=4)
Mark any four places from the following on the map of Rajasthan.

(Bikaner, Jaisalmer, Kota, Banswara, Hanumangarh)

3R / Ans
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geT: 18 SENT @1 3ref 9o g¢ fafmfor @y dws | (4)

Explain manufacturing by giving the meaning of Industry.
3R / Ans

U 19 ST T & WU ¥ B S ST 8?2 TAT 39 BHA DI ST DI ATGLAD AIFH
gRReIfAT BT THsTEU— (4)
Which crop is known as golden fibre? Explain the necessary climatic conditions required
for its growth?

3N/ Ans

U3 20 FHHAT B 3TN B ARAT HIFT | (4)

Describe the right to equality.
3N/ Ans




3R / Ans

3N/ Ans

U 21 YR SAfdem™ # o FRUerar &1 fod UsR |a#=mar a1 82 (4)
How is secularism explained in Indian constitution?
ge: 22 (i) ORI & gUdEr e W fewol forRau— 2)
Write a short note on the handloom industry of Rajasthan.
(i) fBfRT & emg T FHST ® ? (2)

What do you understand by 'Phishing'?
3R / Ans




[GECIRC RS |
Essay type Question

ge: 23 (i)dTer oMo | ARA IS IR DI I & TSl g ? @)
How did the partition of Bengal give momentum to the Indian National movement?
(i) 1857 DT HIfT & TLATG HRAT I U0l | RI—T daeld b TW? ()

What changes were made in the Indian administration system after the revolt of 1857?

AT
OR
(i)3fete Fmrg W) fewell faRay | @)
Write a short note on Rowlatt Satyagrah.
(ii) 38 @& I J—IHAT ¥ FAUY BRAT @ foTg SfUSI -1 F7 T ? (4)

What did the British do to force the rebellious landowners of Awadh to surrender?
3N / Ans




U3 24 (i)9Rd ¥ SeTerdl @ XA B FHSST |
Explain the structure of courts in India.
(i) S H BT g D Ufhar dT FHASSY |
Explain the process of law making in parliament.
AT

OR

(i) priuferdr o fbd yerR R ol 82 Hsmsy |
Explain how does parliament control the executive.
(i) Tad = =IrauTfeTdT @) A9 FHsSy |

Explain the characteristics of independent judiciary.

3R / Ans

10



g 25 (i) IORAT H 1857 B Hifd Bl JEHAN & TII HRON BT quF BT | (4)
Explain the main reasons for the failure of revolt of 1857 in Rajasthan.

(i) fewoft forfRaw 242 =4
Write short note-
(31) oI oS B el CIBUNEREINE]
(a) Rajasthani painting style (b) Urban administration
3AAT
OR
(i) 1857 @I wifd & ToRAN H YR BT FHSY | (4)

Explain the spread of revolution of 1857 in Rajasthan.

(ii) feoqoft faRay | 2+2=4
Write short note -
(31) U™ gEmad (@) o H Hfchwar
(a) Gram panchayat (b) Sculpture in Rajasthan
3R / Ans

11
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1[99, wa R e R 1(1)
_I:nm A 1(4) 1(4)
5. [amT & W e mern 2 1(2) 1(2)
4. [ofareh, g sliv v@ wwt g @t weww 1 1(1) 1(1)
5. |o weTen aTTaw oRe § 1857 AR SEO AT A 1(4) 1(4)

6 [Se1 oI 1 W 4T X Y PRIA el B ) 2
7 [, S T g 2 1(2) 1(2)

8 g aie w1 GEe 1857 B AU W 1947 s —) 4
1 [ 4 1) 1(4)
2 [, T, S, W TRt 9N g o B 101/2) (1) ~(1/2) 1(a) 3(6)
3w 4 1(9) 1(4)
4 [ A 1(4) 1(4)
5 [Am gee 2 —(1/2) ) | —(/2) 1(2)
1 [T e A 1(4) 1(4)
2 [ad FedE @ e A 1) 1(4)
3 | e R I A wm A 1(4) 1(4)

4 [wrEmiersT A —@) -4
5 EE ] N 1(1) 1(1)

| ¢ [eRmmew & Faet i “(1/2) —4/2) 1
L4 g 1 1(1) 1(1)
8 [mr ok s A= ER) 1(1)
1 188t & 1 T 1 104) 1(1)
2 1857 T RRI=AT GAH Qq ATwRITT 4 1(a) 1(4)
3 eI BT T A 1(4) 1(4)
4 | 1 ~(1/2) -1(1/2) 1(1)
° 2 1) 12)
6 [uRus w3 qdeT D) 1(1)

7 1 -1 -1

8 [SFOMRUT ¥4 WA o 87 Weied wad 2 —@) 2

9o [urivr 7 W W 2 @) 2

10 oo ¥ i g7 gy 2 —@) 2
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